BHIEMIZ QR I— FAS HP ATVt X Loolince

PG-12

FEIRAHR I L KBEY

,11-5| or -:i.'_ .

2
i R
| y
\
P1 <
B1
iR Al | A2 | A3 | A4 | B1 (¢ E1 ¢ E2|¢ES3 M1 P1
PG-12 KB-20 2 15 15 30 49 15 20 7 M6 X 1.0 36
PG-12 KB-20-20h 2 20 15 35 49 15 20 7 M6 X 1.0 36
PG-12 KB-25 2.3 18 18 36 56 20 25 7 M6 X 1.0 42
PG-12 KB-25-27h | 2.3 | 27 18 45 56 20 25 7 M6 X 1.0 42
PG-12 KB-30 2.3 18 24 42 62 25 30 7 M8 X 1.25 48
PG-12 KB-30-26h | 2.3 | 26 24 50 62 25 30 7 M8 X 1.25 48
PG-12 KB-35 23 | 26 24 50 69 30 35 9 M8 X 1.25 53
PG-12KB-35-35h | 23 | 35 | 24 | 59 | 69 | 30 | 35 | 9 | M8x 125 | 53
PG-12 KB-40 23|25 | 30| 55|76 |34 | 40| 9 | M8x125 | 60
BB ST MECRUN S BEOIE  [oen 22 2 % 5 s s w s e
IR EBINRNS ) | NEBIERATEXT PG:12 KB:50-40h 32 40 | 30 | 70 | 93 | 42 | 50 115 Mi0x15 | 73
BRI & o T EREA R, HAMAROEMERAREILS PG-12 KB-60 32| 30 | 35 | 65 104 52 | 60 | 115 Mi2x 175 | 84
FHETCE . LVLAYEE > TVET, : : :
PG-12 KB-60-34h | 32 | 34 | 35 | 69 | 104 | 52 | 60 | 11.5| M12X 1.75 | 84
PG-12 KB-60-58h | 3.2 | 58 | 35 | 93 | 104 | 52 | 60 | 11.5| M12 X 1.75 | 84
ERf EEM. EfEk PG-12 KB-80 45| 40 | 45 | 85 | 136| 70 | 80 |13.5| M12X 1.75 | 108
# B XRRIL(NR) PG-12 KB-80-55h | 4.5 | 55 | 45 | 100 | 136 | 70 | 80 |13.5| M12 X 1.75 | 108
o PG-12 KB-100 45 | 50 55 | 105 | 166 | 90 | 100 | 13.5 M16 X 2.0 134
Tkl BE&
PG-12 KB-100-70h| 4.5 | 70 55 | 125|166 | 90 | 100 | 13.5 M16 X 2.0 134
B RTVVITUvIvy 1B AT M 1{E PG-12 KB-120 8 | 60 | 51 | 111 | 210 | 110 | 120 | 18 | M16 X 2.0 | 160
R EE60° PG-12 KB-150 8 | 62 | 55 | 117 | 250 | 140 | 150 | 22 | M20 X 2.5 | 190
e R Z A FHTE SrAarE Nlkgf] INZTEER TEERR | 3— R FViN—
Nikgf] Z5MA X 5 N/mmlkgf/cm]
PG-12 KB-20 SHUEIRSHR T L KB BY ~ 160 [~ 16] 280 [29] 69 [7] 130 [130]| #£7£EE | 1070121703
PG-12 KB-20-20h HQLE!FAHRT L KB B! ~ 98 [~ 10] 180 [18] 49 [5] 78 [80]| #7£fE | 1070121704
PG-12 KB-25 AR T L KB B ~ 250 [ ~ 25] 490 [50] 98 [10] 200 [200]| #7£EE | 1070121705
PG-12 KB-25-27h  LEUBAH#R I L KB B ~ 160 [ ~ 16] 310 [32] 59 [6] 93 [95]| #7£[EE | 1070121706
PG-12 KB-30 FSUBIRAHR S L KB &Y ~ 450 [ ~ 46] 890 [91] 170 [17] 310 [320] | #Z#E7EE | 1070121707
PG-12 KB-30-26h  1EUpAH#R T L KB B ~ 300 [~ 31] 610 [62] 120 [12] 140 [145]| #7EE | 1070121708
PG-12 KB-35 SAERSHR T L KB 8 ~ 490 [ ~ 50] 980 [100] 250 [25] 240 [240]| #7ffE | 1070121709
PG-12 KB-35-35h | QLEIFAHRT L KB B! ~ 370 [~ 38] 740 [75] 200 [20] 150 [150]) #E7£fE | 1070121710
PG-12 KB-40 SAIBAIRT L KB &Y ~930[~95]| 1810[185] 360 [37] 340 [350]| #E{EEE | 1070121711
PG-12 KB-40-33h  QLE!fAHRT L KB B! ~ 540 [~ 55]| 1100 [110] 250 [25] 220[220]| #7£[EE | 1070121712
PG-12 KB-50 FEBAIRT L KB BY ~ 1230 [~ 125]| 2500 [250] 590 [60] 610 [620]| #7£[E | 1070121713
PG-12 KB-50-40h  FLEUBAHR T L KB Y ~ 880 [~ 90]| 1800 [180] 390 [40] 270[280]| #7£[E | 1070121714
PG-12 KB-60 AR S L KB &Y ~ 1860 [~ 190]] 3700 [380] 750 [76] 780 [800]| #7ffE | 1070121715
PG-12 KB-60-34h  hBUBAIRT L KB &Y ~ 2110 [~ 215]] 4200 [430] 930 [95] 650 [660]| #7EE | 1070121716
PG-12 KB-60-58h  hAUf5#R T L\ KB &Y ~ 1400 [ ~ 140]| 2700 [280] 590 [60] 270 [280]| #7£EE | 1070121717
PG-12 KB-80 FLEUBAHR I L KB B ~ 4170 [~ 425]| 8300 [850]| 2000 [200] 1350 [1380]| #7£[E | 1070121718
PG-12 KB-80-55h HQLE!FAHRT L KB B! ~ 2900 [~ 300]| 5900 [600]] 1100 [110] 660 [670]] #ETERE | 1070121719
PG-12 KB-100 FUEUBAIR D L KB BY ~ 6200 [ ~ 630]| 12400 [1260]| 2500 [250] 1610 [1640]] #E7EEE | 1070121720
PG-12 KB-100-70h iEUphHR T L KB B! ~ 3580 [~ 365] 7200([730]] 1720 [175] 750 [760]| #E7EEE | 1070121721
PG-12 KB-120 SAIBAIR T L KB &Y ~ 7700 [ ~ 785]| 15400 [1570]| 3090 [315] 2160 [2200]| #7£EE | 1070121722
PG-12 KB-150 SBIBAIR T L KB BY ~ 12700 [ ~ 1300]| 25500 [2600]| 5100 [520] 3970 [4050]| #£7FEs | 1070121723

587

il
ik

2

U

myN::|
Jaxy k

it AV



